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QUESTION 1

Where does ASE gather aggregated historical query information in a persistent catalog? 

A. sysgams 

B. syslogs 

C. sysquerymetrics 

D. sysqueryplans 

Correct Answer: C 

 

QUESTION 2

Which of the following features of the query optimizer are new in ASE 15? (Choose 2) 

A. in-memory sorting 

B. nested-loop joins 

C. tempdb worktables 

D. sort-merge joins 

E. hash joins 

Correct Answer: AE 

 

QUESTION 3

Which of the following can NOT be done by a dbo? (Choose 2) 

A. create a database 

B. create database objects 

C. use database objects 

D. grant permission to grant permission 

E. transfer object ownership 

Correct Answer: AE 

 

QUESTION 4

What can be used to examine partition skews? (Choose 2) 
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A. sp_helpdb 

B. sp_helpartition 

C. sp_help 

D. optdiag 

E. reorg 

Correct Answer: BC 

 

QUESTION 5

When loading a database that was dumped with compression 

A. the load syntax does not need to specify the compression level. 

B. the database does not need to include the exact dump compression level. 

C. the load syntax could use a different compression level than the dump. 

D. the load syntax does not need to use the word compression at all. 

Correct Answer: D 
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